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-SH&EHUIZ (BIS,ITS) 30, 1403 x2644 7,957
-HIE MHE (windowZ) 388, 3002 * 194 7,378
-HlE MHE (LinuxE) 697,400 *5I4 3,487
02 33244l 211,771 179,7%6 31,975
OZEHAEBAAE B33 169,571




A NSHAD
M NSSAEMS
Gl DEOEAIMSHE(DEAYSHS) (o) &)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
~ZAHATBAIAE HRABIT)HY 0
=3=3 28,0503 *2423] &+ 122 x90% 73,312
“BAHATPAAY HEA APRIEY 018
= 8,250 33| & * 123 *90% 268
“ZAHATZANAE(HAZEHEH)HES]
raelR=a=4 220,000 12| & 123 *90% 2,376
—ZAHAMBAIAE XHHEXI(0BE) JIXI=2
2t HE3H 018
484,000& 23| &1 %122 *90% 10,455
—ZAHAEEAIAE EHO0IX MZ3H0]
=1 440,000 % 13| & 122 *90% 4,752
~ZUAHATBAIAS H2ABIT) IS
30,000 & #2424 A~ *122 ¥90% 78,408
OAIZEHIR I 17,000
~ZAHAZBAIAE(BIS) HAFEQHAD]
2 S2ZE RIE 7R
200,000 *85JH & 17,000
OHAFESEI(ANSS) |22
1,500, 0003 = 168CH*10% 25,200
401 Al HIZL 200 100,000 415,000 A315,000
01 Al&HI 100,000 415,000 A315,000
OHAZEAIAE KX S
100,000,000 * 14 100,000
(i:|1s]}s]] 170,406 28,500 141,906
801 GilHIbI 170,406 28,500 141,906
01 LBHoilgl] 14,140 28,500 A14,360
oolldlgl 14,140,000 14,140
B UHERES 156,266 0 156,266
O=0l&t NIZE0A Ar2tAH|
156,266,000& 156,266
HE2HZH (D SHA ) 1,663, 151 1,642,019 21,132
CIAZHH(LSAILSE3IH) 1,598,351 1,579,619 18,732
QlHHHI(LESAASE3IH) 1,598,351 1,579,619 18,732
101 @l24H| 1,598,351 1,579,619 18,732
01 2= 81,927 81,083 844
O=g 81,927
-EHFEX SEA AMLIZREY
11, 130R*7H+35A| 2H 123 32,723
-EYHFEIX 2 nEUM SE2ZR 54
ae4(BEY YHS)
89,4602 1124 482 47,235
-HESEUME SU22 LG
89,4603 x11Z+23] 1,969
03 SRA(RINHL) 222 1,516,424 1,498,536 17,888
OFxt&ae| o2 517,139
-JlE2=s 1,912, 180&* 108+ 12& 229,462




2A: nSHEW
. HY2IZH(nSHH)
Chel: Ol 2ot (W EAIISE 3| H) CERED
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
A2 100,000 *10E +12& 12,000
-Al|12s5+g 1,912, 180R+7H +5%+ 122 8,032
-uEH| 50,000 =108+ 12& 6,000
-=Aalt| 80,0003 108 12& 9,600
TSRy 100,000 102+ 12& 12,000
-&0=3 1,912, 1803 *10H 43| 76,488
-SY2fY
113,860 * 10K *52=+150% 88,811
-A2tel2RE
14,2303 *10H x25A| 2H+ 12& 42,690
-Axtg 91,090 108 10 9,109
-HEZFOHI 1,912,180 * 10 x60%+23| 22,947
O=48=8Xt =53 948,372
A== 1,912, 180317+ 12& 390,085
A2 100,000 17+ 12& 20,400
-uE| 50,000 =178+ 12& 10,200
=4l 80,000 =178+ 12& 16,320
PSR =y 100,000& 17+ 12& 20,400
-&03 1,912,180 *17 - *43| 130,029
25 1,912,180 # 17 +5%+ 12 19,505
-SY2fY
113,860 #17G #4 2 * 12 *150% 139,365
-Atel2Ray
14,2303 * 177 *x25A( 2H+ 12 72,573
-Axtg 91,0903 *17Z 10 15,486
-HEZFIH| 1,912,180 # 17 x60%+23| 39,009
-g1&3 25,000,000 3% 75,000
OHAFBAIAE(BIS)2Y oI 50,913
-2 1,912, 1803 19+ 12 22,947
A2 100,000 x1H =123 1,200
-uE| 50,0002 x 1« 12& 600
-=4d| 80,0003 x1H 123 960
28 100,000& *1H+ 122 1,200
-&03 1,912, 180& x1Z %43 7,649
-SY2fsY 113,8602 * 1 *523=*150% 8,882
-AIZIRI2R+E
14,2303 * 1H+25A| 20123 4,269
-AXt=g 91,0003 *1Z*10! an
-HEZOHI 1,912, 1803 * 1 *60%+23] 2,29
Jl2db(nSsE ) (LEANLELSH ) (RSAHS LS 64,800 62,400 2,400
H)
Jleddl(nsddn) 64,800 62,400 2,400
202 0idl 64,800 62,400 2,400
01 =LHO4 b 64,800 62,400 2,400
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H & 0l & AHS B Ml A

& WSAIESERH A
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A NSXUSEARA
M JYSSAYL 29
ol NSHSES SIRAHIA HB(DSALSHSIH) (12l M2
RA B - SRA(E) - MIRA - BES ofl &4 G o HIDEY
NSISEARA 534,322 570,555 N36,233
AESEMLE 2 180,392 236,334 N55,947
ASIHEE LIMHIA HMS(RSAISSEE3) 180,392 236,334 N55,942
ASxt el 51,272 66,910 N15,638
201 =3 33,112 40,690 AT,578
01 AFS2t2ltl 27,316 31,960 AN4,644
OgBt==H| 26,3%
-AEA Hols Zelel2
300,000 *2JH 600
—arE0H elE2R M 150&*1,000& 150
“HEI SHEZAL QHHRE HIZ
300& 2, 5004 750
-ASI2elAtY HEHE nEhE S J
= 6,000& *300T x22] 3,600
-SYHASIHRHYR, EgPxHE)sE L
H&el SeH3te M
50,0003 #24 0K 2 +22] 2,400
-REHTA XHE A oE W AEIH ME
800 «5000H 400
-2|=0 SAH|(REE, SEHLUX ARAH2])
100,000& *62] 600

-NEXNSEE 2UAMA HE S(20F)

503 +3,000F+205 23] 6,000

-USHESZ B2H0IA HIE
1,0002%8,0000H 8,000
~MBoH NSX 2= AEIH R
1,00091 x2Z 33801 676
—HEI|H SYFTII2E ZHIE MIE
110,0002 %37 A #23) 660
—2A4I|H EEA HEIE PC P
5002 %1, 20004 600
-NHSHEE QI =HUIIE 82X 2
110,000 *52H A 550
—AAHSE A Y 2
1,50094 *40004 600
XBEZHS MHEAAH U EEUDIE
2/t 100,0002 %53 500
SR e AR
30,0002 x5 150
~NEX 2ely 98t B2 20 DXAM A
xt 6024*2,0000H 120
OEET 960
—ROIER| 9 EHARHAIY BSEE
S20HAHI 8,0002 x5 22 122 960
® 2229 5,79 8,730 A2,934

O332= € HMAl 5,79%6




A NSIASEARL
M FUSEAYL 2
Gl NEXSE DAHIA HZ(DEAYSES) (o) &)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
-Atsxt2tely ARk S| SE=
2,530 10001 122 3,036
-REENSI SXZelAAE S 24|
200,000& =123 2,400
-SHUX SEFUE AIS=
30,0003 «1CH* 123 360
202 Ot 580 2,340 A1,760
01 =WO4bI 580 2,340 A1,760
OXte REX| & PEE 2 AtAdXel 2
2|4l 200, 0002 x2Z #23| *50% 400
OXtsitely |t XNE &= o]
20,0003 *3H * 12 x6 *50% 180
204 H2 43 AY| 2,400 2,400
2 SEH2ZH| 2,400 2,400
OsMzZYRe
200,000&x 14+ 122 2,400
301 LPENZ 9,680 11,200 21,520
14 J|EI2 &3 9,680 11,200 A1,520
OSHEXXE Aelzg K=
30,000 *60CH 1,800
OXtsxt2g=2d MO Zaz
100,000 *5H 500
OXNSXHEE DAACHIER0| AUIEA=
30,0002 *246 2 14 7,380
405 Xtk S| 5,500 10,280 24,780
01 ML =EFSHI 5,500 10,280 A4,780
O15 s 2FNMMAZXI(UPS) L
5,500,000 * 14 5,500
NsAttElg 20 = 129,120 169,424 A40,304
201 B2 AL| 121,420 160,524 A39,104
01 ArR22ltl 37,186 42,872 Ab,686
OSEEA AHE & D203 oHHE MIZ
150 *3,00001* 12 5,400
O2AREE I =AM M=
602 *5000H = 123 360
OdAMXA ez 2& OXM ME
60 x2000H * 12& 144
OLSIREE 0171 Mz & OXAM HE
603 x6000H* 12& 432
OXtsXt MElE 20 XA HE
60& *4,00001* 122 2,880
OX=sxt Mtelge MESXIAM &
100& *7,0000H 700
OMEiE XM =28 8ol ZelH EY
- 237,000 *3CH*43] 2,844
O1RXAM eletel s8/38] A28 72
237,0002 *1CH*23] 474
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SN HEHSSMRL
M HER2HAH(NSUHSEARL)
Chel: QIE2AHI(NEASSESIA) (CH9: /M)
SA - B GR(31) - HIRAY - BES ol &k G o HlmS2
101 eI t| 274,260 238,717 35,543
03 SR (RIAHY) 22 E> 243,684 209,082 34,602
O32% oAt A=2 A4 28,052
20224 QIAH| A& 2,592,6703+5Y 12,964
20234 QoIAH| A3 F 3,017,420 5% 15,088
OXsxsE HEY 2R EX 43,371
2= 2,067,203 18« 128 24,808
=25 2,067, 2002+ 1 5% 122 1,241
-0z 2,067,202« 18 +42 8,270
PN I 98,850 x 110 989
-HESIHI 2,067, 290& * 1% +x40%+23| 1,654
-AEY 100,000 x1H* 12 1,200
—wEH| 50,0002« 18 %123 600
-= 4| 80,0003 x 1« 12& 960
ATy 100,000& x1H*12& 1,200
-S&0Y| 20,0003 18«53« 128 1,200
A2+ =5 20,810 +5A[2t+ 12 1,249
OXtetate| dR8X 43,392
2= 2,067,202 18« 128 24,808
-S40z 2,067,203 x 1543 8,270
2= 2,067, 2902+ 1 5%+ 122 1,241
SR PNE =y 98,8502 18+ 10! 989
-HEFIHI 2,093, 3903 * 1 *40%*23] 1,675
=y 100,000& x1H*12& 1,200
-u S| 50,0003« 12« 128 600
-= &l 80,0003 x 1« 12& 960
28 100,000 x1H« 122 1,200
=& 04| 20,0002 *1H 53|+ 128 1,200
-A2t2 =E 20,8103 +5A[ 2H+ 12123 1,249
OUHZE PRE=X 85,498
-Jl23 2,067,290 28~ 123 49,615
-0z 2,067,203 x2H A& 16,539
i 2,067, 2902« 1B 50+ 128 1,241
SR PNE = 98,850 x2H 10 1,977
-HEZFOH| 2,067, 2002 +2H x40%*23] 3,308
AR 100,000 x2H+ 122 2,400
-u =l 50,000 x2H*123] 1,200
-= 4| 80,0003 x2H 123 1,920
-8 100,000 x2ZH =123 2,400
-S& 0| 20,0003 x2 5 * 123 2,400
—-A2H2l =G 20,8102 x5Al 2H+2H * 123 2,498
OSEME gREx 43,371




SN HEXSEARA
M HER2HAH(NSUHSEARL)
Chel: QIE2AHI(NEASSESIA) (CH9: /M)

L FE - SRAE) - MRAY - BES of v G o HIDE2
|23 2,067,200 » 18«12 24,808
-A0 2 2,067,200+ 1 42 8,270
224G 2,067, 20021 %5+ 128 1,241
P = 98,8504 * 1+ 10 989
-HEFIHI 2,067 , 2002 1 «40%x23| 1,654
XL 100,000 1%« 12& 1,200
-S| 50,0004 * 1%« 122 600
32/l 80,0002 %12 122 960
= 100,0002 %12 128 1,200
-E30{dl 20,000 %53 * 122 1,200
—AEQIA S 20,8102I%5A| 2 122 1,249
M IIRH2ZRSE S 30,576 29,635 91
O AtZ2| 018 27,534
Dleg 78,8802 x1 %222 12 20,825
F55Y 78,880 1B x4« 122 3,787
—2HAlH| 2,0009* 1 +222 x 122 528
= = 78,8804 1%« 122 047
-l B4
120,520 %12« 128 1,447
OJIZHIZ2Z2X AUEE Iz 3,042
-2oIAALEELS
27,003,360 *3. 545% 958
—LQIED | QUALERNS
957,260 %12.81% 123
-ROIHI LS 27,003,360 4. 5% 1,216
-2 27,003,360 *1.75% 473
—AHEEESS 27,003,360 *1.004% 272
2ZH(NSUSSARA) (WSAILSEIH) 79,670 95,504 A15,8%
I 2BH(HEHEEARA) 79,670 9,504 A15,834
201 Ler2AY) 41,270 57,104 A15,834
01 Al22t2IHI 23,532 27,546 N4,014
OEEIES=%] 17,772
JlE AREE 100,000+ 16 1,600
-2AD| £4H E |X2e
500,000 *2CH 1,000
“SAN(EH ¥ =8 F1¢)
480,000 *3CH*23 2,880
-2ARX 7Y 23,0002« 102t A x 122 2,760
-YOIMIRIH & HAEY P
237,000 #4CH+43] 3,792
-0I5)| A2E P (YIA3ELIXL)
143,000 % 102+ A 1,430
e 2l 25,0002 *3CH 122 900
SR A 2021%15, 100L 302
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